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1. Anexampleof doublecountingin national incometermswould betheadding of :
(A) Electricity outputsand gasoutputs (B) Ironoreoutput and iron output
(C) Wagesof busandtraindrivers (D) Thevalueat each stage of production

2. GrossNationa Product equals:
(A) Net Nationa Product adjusted for inflation
(B) GrossDomestic Product adjusted for inflation
(C) GrossDomestic Product plusnet factor incomefrom abroad
(D) Net National Product plusnet factor incomefrom abroad

3. Toadjust GDPfrom market pricestofactor cost:
(A) Addindirect taxes
(B) Subtractsubsidies
(C) Deductindirect taxesand subsidies
(D) Deductindirect taxesand add subsidies

4. Inusingtheexpenditure approach to calculatethe Gross National Product (GNP) of an
economy, imports should be deducted because :
(A) Someimportsare substitutes of domestic products
(B) Someimportsareintermediategoods
(C) Importswill lead to paymentsto foreign countries
(D) Importsarethe expenditure on goodsand services produced by foreign countries

5. Transfer paymentsare not includedin national income because:
(A) they areincluded inthegrossnational income but not the net national income
(B) they aredready includedintheincomesof households
(C) they arenot returnsfor the production of goodsand services
(D) they arenot taxed by the government

6. Purchasesof inventoriesby :
(A) firmsarenot counted ininvestment spending
(B) firmsareasocountedininvestment spending
(C) householdsared so counted ininvestment spending
(D) householdsand firmsareaso counted ininvestment spending

7. Goodsand servicesarevalued at market priceswhen cal culating GDP. Since some* outputs’ of
government are not sold, they have no market prices. Inthe actua calculation of GDP:
(A) they arevaluedat zero
(B) they arevalued at the cost of producing them
(C) thervaueisestimated fromasurvey of recipientsof these services
(D) thervaueisestimated from the market pricesof similar market-provided services
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8. If Mr. X spendsRs. 6000 to buy anew refrigerator, Rs. 4000 on getting hishousewhite-washed
and Rs. 3000 on buying new shares, theimmedi ate effect on national product isthat itincreases
by :

(A) Rs. 13,000 (B) Rs. 10,000
(C) Rs.9,000 (D) Rs.600
9.  Whichof thefollowingisatransfer payment ?
(A) Payment madeto housewife (B) Pocket dlowanceto children
(C) Maintenanceallowanceto old parents (D) All of theabove
10. Thedifferencebetween GNPand GDPisequal to:
(A) GrossDomesticInvestment (B) NetForeignInvestment
(C) NetImports (D) Net Factor IncomefromAbroad
11. Whichof thefollowingisthebest definition of opportunity costs?
(A) Theamount of onegood that must be given up in order to produce one more unit of
another good
(B) Theamount of money that must be paidin order to purchase one more unit of agood
(C) Theamount of aninput that must be used in order to produce one more unit of agood
(D) Thepriceof agood that must be charged in order for amerchant to sell onemoreunit
12. Whichoneof thefollowingisnot true?
(A) If ACisahorizontd straight line, MCwill coincidewithit
(B) If ACrises, MCwill riseat agreater rate
(C) If ACfdls, MCwill asofdl a ahigher rate
(D) If ACrises,MCwill riseatthesamerate
13. Thehigher thevaueof thecrosseadticity the stronger will bethe degreeof :
(A) complementarity (B) subditutability
(C) both(A)and(B) (D) independence
14. Break even point for afirm occurswhereits:
(A) total revenue>tota cost (B) total revenue<total cost
(C) tota revenue=total cost (D) noneof theabove
15. Whichoneof thefollowing givesthe measuresof priceeadticity of demand ?
(A) Ratioof changeindemandto changeinprices
(B) Ratioof changein priceto changeindemand
(C) Ratioof percentage changein demand to percentage changein price
(D) Noneof theabove
16. Whichof thefollowingis* not” illustrated by aproduction possibility boundary ?
(A) Scarcity (B) Opportunity cost
(C) Necessity for choice (D) Allocaiveetficiency
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17.

18.

19.

20.

21.

22.

23.

Concept of diminishing marginal rate of substitutionisassociated with:
(A) A.Marshdl (B) JR.Hicks
(C) EE.Sutsky (D) JM.Keynes

MRS decreasesaong an indifference curve because:

(A) MU decreaseswhen stocks of agood increase

(B) Twogoodsarenot perfect substitute

(C) Consumer’scapacity and willingnessto sacrificeagood with the decreasein the stock of a
good

(D) Noneof theabove

Anincreasing cost industry’slong run supply curvehasa:
(A) PostiveSope (B) Negativedope
(C) ZeroSlope (D) Noneof theabove

Oligopoly isamarket Situationwhere:

(A) therearefew firmsproducing close substitutes

(B) therearefew firmsproducing entirely different goods
(C) therearefew firmsproducing complementary goods
(D) therearetwoor moremonopolisticfirms

Supposethat good A isplotted on the horizontal axis. If the price of A doublesand the price of
B triples, leaving the consumer’ sincome unchanged, thebudget line:

(A) will become steeper (B) will becomeflatter

(C) will shiftintowardtheorigin (D) will shiftout fromtheorigin

[dentify the statement that isfalse:

(A) Anincreaseintheamount of income changestheinterceptsof the budget line but not the
dope

(B) Anincreaseinthe priceof good x changes both the x-intercept and the d ope of the budget
line

(C) Anincreaseinthepriceof good x and an equal percentageincreaseinthe priceof goody
changesthe x-intercept, they-intercept, and the dope of the budget line

(D) Anincreaseinthepriceof good x and anincreasein the price of good y may or may not
changethedopeof thebudget line

Onatypica optima choicediagram, with budget linesand indifference curves, thelinethat connects
theconsumer’soptimal basketsasthe price of one good changes holding income and the price of
theother good constant iscalled the:

(A) Income-consumption curve (B) Demandcurve
(C) Price-consumptioncurve (D) Engd curve
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24.

25.

26.

27.

28.

29.

30.

31.

Supposewhen the consumer’sincomerises by 20%, the consumer’ s consumption of good x
only increases 10%. We can infer that good x isa(n) :

(A) norma good (B) inferior good

(C) giffengood (D) margina good

[ dentify thetruthfulnessof thefollowing statements.

| Becausetheproduction functionidentifiesthe maximum amount of output that can be
produced from agiven combination of inputs, only technically efficient input combinations
arefound on the production function.

[l Theproductionfunctionidentifiesthetechnically feas ble combinationsof inputs.

(A) Bothlandll aretrue (B) Bothlandll arefase

(©) listrue llisfdse (D) lisfdse llistrue

Increasing margina returnsoccur when thetota product functionis:

(A) decreasing (B) increasing at adecreasing rate
(C) increasing at aconstant rate (D) Increasingat anincreasingrate
External economiesor diseconomiesare outsidethe control of thefirmand :

(A) Will not affect the cost of thefirm (B) Will affect thecost of thefirm

(C) Will increaseoutput (D) Noneof theabove

Supposeat thefirm’s current long-run combination of capital andlabor that MP, = 15;
MP, =10;r=8,andw =3. Thefirm:

(A) iscurrently minimizingtotal costinthelongrun

(B) couldlower cost by increasing the usage of capital and decreas ng the usage of L abor
(C) couldlower cost by increasing the usage of labor and decreasing the usage of capital
(D) cannotlower cost without alsolowering thelevel of output

Monopolistic competition hasfeaturesof :

(A) Monopoly but not competition

(B) Monopoly and competition with featuresof monopoly pre-dominating
(C) Monopoly and competition, with featuresof competition pre-dominating
(D) Noneof theabove

Total product isat itsmaximumwhen :
(A) MPismaximum (B) MP>AP
(C©) MP=0 (D) APismaximum

Supposeat the current level of output, p>MC. Thefirm:
(A) iscurrently maximizingitsprofit

(B) couldincreaseprofit by lowering theleve of output
(C) couldincreaseprofit by increasing thelevel of output
(D) cannotincreaseprofitwithout raising price
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32.

33.

35.

36.

37.

38.

Under conditionsof monopoly :
(A) ARcurveliesbelowtheMR curve (B) ARcurveisequa toMR curve
(C) ARcurveisnotrelatedto MR curve (D) ARcurveliesabovetheMR curve

Which of thefollowingisnot acharacteristic of Perfect Competition ?
(A) Largenumber of buyersand sellers

(B) Perfect knowledgeonthepart of buyersand sellers

(C) Homogenousproduct

(D) Product differentiation

| dentify thetruthfulnessof thefollowing statements:

I. A monopolist facesadownward-d oping demand curve, whereasaperfectly competitive
firmfacesahorizonta demand curve

[1. A monopolist maximizesprofit, whereasaperfectly competitivefirm cannot

(A) Bothlandll aretrue (B) Bothlandll arefalse

(©) listrue Il isfdse (D) lisfdse llistrue

Which of thefollowingisNOT necessary for afirmto beableto engagein pricediscrimination ?
(A) A firmmust have some market power

(B) A firmmust have someinformeation about itsconsumers willingnessto pay

(C) A firmmust beableto prevent arbitrage

(D) A firmmust beaprice-taker

Intheclassica monetary theory, theelasticity of demand for money is:
(A) unity (B) zero
(C) lessthanzero (D) infinity

Thevaueof money varies:

(A) directly withtheinterestrate

(B) directly withthepricelevel

(C) inversdly withthepriceleve

(D) directly withthevolumeof employment

A horizontal speculative demand for money functionindicatesthat thereis:
(A) no speculative demand for money

(B) asmall but limited specul ative demand for money

(C) anunlimited speculativedemand for money

(D) anunlimited demand for bonds

39. Maintaining acashreserveratioof 20% with primary depositsof Rs. 1000, thetotal
derivative deposits created by bankswould be:
(A) Rs.5,000 (B) Rs.1,000
(C) Rs.4,000 (D) Rs.4,500
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40.

41.

42.

43.

45.

46.

47.

Thetheory that transaction demand for money a so dependson therate of interest was put
forward by :

(A) Keynes (B) Baumad

(C) Pigou (D) Wicksdl

According to Reserve Bank of India, M=

(A) currency +demand and timedepositswith banks

(B) currency +timedepositswith banks+ time depositswith post offices

(C) currency + demand depositswith banks+ Saving depositswith post offices
(D) currency +demand and saving depositswith banks

Themost liquid asset, next to cash, which the banks possess, is:

(A) tressury bills (B) money at call

(C) foreignhills (D) cashcredit

According to Keynes, investorsprefer holding money rather than bondswhen they expect :
(A) interestratestoremain constant (B) interestratestorise

(C) interestratestofdll (D) bondpricestorise

Which oneof thefollowingisnot aliability of acommercia bank ?
(A) Timedeposts (B) Security holdings
(C) Borrowingsfromthecentra bank (D) Depositsof other bankswithit

Which oneof thefollowing statements describes correctly the nature of Fisher’sand
Cambridgeequation ?

(A) Fisher'sequationisbehavioural while Cambridge equationismechanical

(B) Fisher’sequationismechanica while Cambridgeequationisbehavioura

(C) Botheguationsarebehavioura

(D) Bothequationsare mechanical

If anation gainsfrom international trade, itsconsumption pointis:
(A) onitsproduction possibilitiesfrontier

(B) ingdeitsproduction possbilitiesfrontier

(C) aboveitsproduction possibilitiesfrontier

(D) insgdeor onitsproduction possibilitiesfrontier

A country’ stermsof trade are generally determined by :
(A) internationd trading agreements

(B) thevaueof goldreservesheld at itscentral bank
(C) supply and demandintheworld’ smarkets

(D) itsrateof capital formation
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48. Assertion (A) : Marshall-Lerner condition should befulfilled if deval uationisto be successful.
Reason (R) : Devaluation makesexports costly and imports cheaper.
(A) Both(A) and (R) aretrueand (R) isthe correct explanation of (A)
(B) Both(A) and (R) aretruebut (R) isnot acorrect explanation of (A)
(©) (A)istruebut (R)isfase
(D) (A)isfasebut (R)istrue

49. Theory of Mercantilism propagates:
(A) Encourageexportsandimports
(B) Encourageexportsand discourageimports
(C) Discourageexportsandimports
(D) Discourageexportsand encourageimports

50. A demand switching policy could be:
(A) higherinterest rates (B) higherincometax
(C) taiffs (D) reduced government spending

51. If thereisabalanceof paymentsdeficit theninafloating exchangeratesystem:
(A) theexterna vaueof thecurrency wouldtendtofdll
(B) theexterna valueof thecurrency wouldtendtorise
(C) theinjectionsfromtradearegreater than thewithdrawals
(D) aggregatedemandisincreasing

52. Adam Smithin histheory of trade hasdemonstrated that :
(A) ininternational trade one country cangain at the cost of another
(B) dl countriescangainfromtrade
(C) freetradeisnot good for developing countries
(D) mercantilistideaswould lead to maximisation of world welfare

53. Comparative cost advantage theory of tradeisbased on the assumption of :
(A) congtantreturntoscae (B) increasingreturntoscale
(C) decreasingreturntoscae (D) constant and decreasing returntoscale

54. Animportant criticism against comparative cost advantagetheory of tradeisthat :
(A) itistheoreticaly inconsstent
(B) itiscolonia innature
(C) itwouldnot lead to efficient all ocation of world resources
(D) itisnot based onrelativedifferencesinlabour costs

55. Thegainsfromtradewould beequally divided between two nationsif :
(A) thetermsof tradeliesexactly between their domestic cost ratios
(B) thetermsof tradeliesbetween their domestic cost ratios
(C) thetermsof tradeisdifferent fromtheir domestic cost ratios
(D) termsof tradeisdetermined by their domestic cost ratios
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56.

57.

58.

59.

60.

61.

62.

63.

Classical theory of trade:

(A) explainsactua pattern of trade

(B) strongly demongtratesgainsfromtrade

(C) highlightstheimportance of transport costintrade
(D) explainsthedetermination of termsof trade

Which one of thefollowingisnot part of capital account of the balance of paymentsof a
country ?

(A) Foregndirectinvestment

(B) Portfolioinvestment

(C) Interest received fromforeign countries

(D) AWorldBank loanfor building infrastucture

Which oneof thefollowingisnon-debt flow of capital between countries?

(A) Commercid borrowing (B) Portfolioinvestment

(C) Short-term borrowing fromIMF (D) Untiedloans

Which oneof thefollowingisnot an exampleof unilatera receipts/payments?

(A) Grants (B) Gifts

(C) Roydties (D) Pendons
Freetradeisbased ontheprincipleof :

(A) comparativeadvantage (B) comparativescae

(C) economiesof advantage (D) production possibility advantage
Accommodating transactionsarea so known as:

(A) belowthelinetransactions (B) abovethelinetransactions
(C) voluntary transactions (D) onthelinetransactions

Other thingsbeing same, anincreaseinmargina propensity toimport :
(A) will reducethesizeof foreigntrademultiplier

(B) willincreasethesizeof foreigntrademultiplier

(C) may or may not affect thesizeof foreigntrademultiplier

(D) noneof theabove

Thebook “Asian Drama’ isauthored by :
(A) G.Myrdd (B) R.Nurkse
(C) S Kuznet (D) M. Daobb

Consder thefollowing assumptions:

1. Pefectcompetition

2. Pefect mobility of factorsbetween countries

3. Congtant returnsto scale

4. Notransport cost

Which of the above assumptionsare associated with Ricardo’stheory of trade?

(A) 1,2and 4 (B) 1,3and4
(C) 1,2and3 (D) 2,3and4
El1J-49856-A 10
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65.

66.

67.

68.

69.

70.

71.

For the Heckscher-Ohlin theory of tradeto bevalid, therel ative factor endowments of two
countriesshould be:

(A) closetoeachother (B) asdivergent aspossible

(C) identicd (D) closdy related

Economic development isbest measured by :

(A) growthof GDP

(B) growth of per capitaincome

(C) growthwithstructural changesineconomy

(D) growthwithtrickledown benefitinfavour of poor

Theannual growth ratein an economy indicatesgrowth of GDPat :
(A) currentprices (B) constant prices
(C) factor cost (D) market prices

“Devel opment isadiscontinuous and spontaneous changein the stationary state which displaces
theequilibrium stateprevioudy existing.”

Theabove statement isassociated with:

(A) AdamSmith (B) JS.Mill

(C) SmonKuznets (D) J. Schumpeter

Trickle-down dtrategy implies:

(A) higher rateof GNPwithsocid justice

(B) reducingincomeof rich classesfor higher public savings
(C) tax concessionsfor commoditiesof massconsumption
(D) efficient water management for irrigation

Which oneof thefollowingisNOT considered for preparing Human Development Index ?
(A) Educationd atanment (B) Hedthfadilities
(C) Enrolmentratios (D) Adjusted per capitaincome

Consider source of thefactsabout Physical Quality of Lifelndex :
1. Itwasprepared by F. Stewart

2. Itwasacomparisonof 23 developing countries

3. Theindex wasbased on somesocial parameters

4. Ittook into account per capitaincome

Of the above:

(A) 1,2and3arecorrect

(B) 2,3and4 arecorrect

(C) only 2and 3arecorrect

(D) only 3and 4 arecorrect
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72.

73.

74.

75.

76.

7.

Closed economy meansan economy having :
(A) controlled supply of money (B) exportsonly
(C) importsonly (D) noexportsor imports

Whichoneof thefollowingisNOT acriterion of underdevel opment ?

(A) Low capita-labour ratio (B) Unexploited natura resources

(C) Dengty of population (D) Ratioof industria output to total output
The concept of balanced growth isassociated with

(A) R.Nurkse (B) Hirschman

(C) H.W. Singer (D) J. Schumpeter

Innovationin production may consist of :

(A) introduction of new product

(B) introduction of new method of production
(C) new sourceof supply of raw material

(D) all of theabove

Theexplanation of the‘ modern economic growth’ isassociated with
(A) Gunnar Myrdd (B) SmonKuznets
(C) B.Higgins (D) Harrod and Domar

Consider some of thefactorsabout Kuznets' inverted U-shaped curve:

1. Withtheeconomic developmentinequalitiesincreaseinthefirg-stage

2. Asthecountry developsfromalow level inequalitiesreduce

3. Inequalitiesindigtribution of incomedo not helpineconomic growth

4. Conclusonsweredrawnonthebasisof experiencesindeveloping aswell asdeveloped
countries.

Of theabove :

(A) 1,2and4 arecorrect

(B) 2,3and4 arecorrect

(C) only 1and4 arecorrect

(D) only 2and 3 arecorrect

78. “Thecoreof humanwell-beingisfreedom of choice by enhancing people scapabilitiesfor
attaining higher standard of health, knowledge, self respect and ability to participate actively in
community life’.

The above statement isassociated with:
(A) Mahboobul Haque (B) Gunnar Myrda
(C) AmartyaSen (D) Noneof the above

79. Thegreatest obstacleto economic development thesedaysis:

(A) lack of natural resources (B) lack of domestic capital
(C) shortage of manpower (D) poor infrastructure
ElJ-49856-A 12
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80. Whichoneof thefollowing doesNOT helpinincreasing productivity ?
(A) Increasein capital-output ratio
(B) Substituting capital for labour accordingtotheir priceratios
(C) Leaningby doing
(D) Migration of workersfromlow productiveto high productiveregion

81. Inwhichoneof thefollowing areas contribution of the Britisherswaspositivefor the
development of Indianeconomy ?
(A) Import of raw materials
(B) Development of cottageand small scaleindustries
(C) Deveopment of transport and communication
(D) Exportof textiles

82. Thefirst scientific estimate of national incomein Indiawasmadeby :

(A) ThePanning Commisson (B) VK.R\V.Rao
(C) Nationa Sample Survey Organization (D) Dadabhai Naorqji

83. Whichoneof thefollowingwasNOT amgjor problem for Indian Economy at thetime of
independence?
(A) Shortageof foreign exchangereserves (B) Shortageof essential commodities
(C) Stagnation of economic growth (D) Predominanceof agriculture

84. Inthetheory of Demographic Trangition, at present Indiastandsin:
(A) Stage-1 (B) Stage-2
(C) Stage-3 (D) Stage-4

85. Whichoneof thefollowingisNOT trueabout National Population Policy 2000 ?
(A) Tota fertility rateto reducefrom5to 3 by 2015
(B) Toimprovehedthinfrastructure
(C) Toachieveastablepopulation by 2045
(D) Toreduceinfant mortality rateto below 30 per thousand live births

86. Whichoneof thefollowing isthemost effectivemeasureto control high birthratein India?
(A) Coercivemethodsof family planning
(B) Economicand non-economicincentives
(C) Spread of education
(D) Better family planning and healthcaremessures

87. Thelargest potentia of eectricity generationin Indiaisfoundin:

(A) cod (B) oilandgas
(C) nuclear energy (D) hydro-dectricity
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88.

89.

90.

91.

92.

93.

Whichoneof thefollowingisthemaost important cause of underdeve opment of thelndian economy ?
(A) Lack of capital

(B) Under-utilized manpower and natural resources

(C) Highdengty of population

(D) Low per capitaincome

Which oneof thefollowing doesNOT helpin environmental protection?
(A) Checking greenhousegasesemisson (B) Povertydleviation
(C) Deforedtation (D) Sudtanabledeve opment

Assertion (A) : Poverty alleviation remainsabasic concern of the government.

Reason (R) : TheNew Economic policy adoptedinIndiain 1991 hasresulted in rapid economic
growth.

Examinethe above statementscarefully and salect the correct answer from the codesgivenbelow :

Codes:

(A) Both(A)and (R) aretrueand (R) isthe correct explanation of (A)

(B) Both(A)and (R) aretruebut (R) isnot acorrect explanation of (A)

(C) (A)istruebut (R)isfase

(D) (A)isfdsebut (R)istrue

Thegrowth rate of national incomein Indiaduring the period 1951-1981 isoftentermed as:
(A) stagnant growth (B) non-sustainablegrowth
(C) crespinggrowth (D) Hindurateof growth

Thelargest sourceof savingsinIndiais :
(A) bhouseholdsavings (B) publiccorporatesavings
(C) privatecorporatesavings (D) publicsavings

Thelargest contributionin GDPinIndiacomesfrom:

(A) agriculture, forestry, miningandfishing

(B) manufacturing, construction, €l ectricity and water supply
(C) financing, redl edtate, insuranceand businessservices
(D) publicadministration, defenceand other services

94. Whichoneof thefollowingis NOT afeature of economic planninginindia?

(A) Democraticplanning (B) Planning by inducement

(C) Planningby direction (D) Physcd andfinancid planning
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95.

96.

97.

98.

99.

Consder someof thefactors, given bel ow justifying economic planningin India:
1. Maketfalureinprovidinginfrastructure

2. Mobilisngresourcestofinance government expenditure

3. Reducing economic and socid inequalities

4. Expansonof public sector

Of the above:

(A) 2and4 arecorrect

(B) 3and4 arecorrect
(C) land2arecorrect
(D) land3arecorrect

The strategy of economic planningin Indiaduring the Second Planwasbased on:

(A) Harrod-Domar model (B) Mahdanobismode

(C) K.N.Rg mode (D) Noneof theabove

Therapid growth strategy of economic planning adopted in current plansfailed to achieve socia

objectivesdueto:

(A) dow growth of theeconomy (B) faster growth of population

(C) wesk trickledown effect (D) adverseeffectsof globaization

Theoverdl industria development of Indiaismeasured by :

(A) Index of Industrial Production (B) Industrid Development Index

(C) AllIndialndustrid Growth Index (D) Noneof theabove

Theclassfication of industriesonthebasisof scaleinIndiaisbased on:

(A) number of personsemployedintheunit (B) annud turnover of theunit

(C) investmentinplant and machinery (D) kind of goodsproduced intheunit
100. List— includessome aspectsof industriesin Indiaand List 11 items associ ated with these aspects.

List— List1

(@ Industrid sckness 1. TFP

(b) Industrid growth 2. SIDBI

() Capitd formation 3. BIFR

(d) Indudrid finance 4. FDI

Matchingitemsof List— withtheabbreviationinList- 1, select thecorrect answer fromthecodes
givenbelow:

Codes:
@ (b (© @
A 1 4 2 3
B 3 2 4 1
C 4 1 2 3
D) 3 1 4 2
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101. Which oneof thefollowingisNOT included inland reform measures adopted in India?
(A) Betterirrigaionfacilities (B) Tendancy reforms
(C) Abdlitionof intermediaries (D) Calingonagriculturd holdings

102. Growth of foodgrains production during thelast two decadesin Indiaremained poor mainly due
to:
(A) impect of globaisation
(B) low export of agricultura products
(C) sagnantinvestment in agricultureby public and private sectors
(D) lowleve of input supply

103. Which oneof thefollowingisNOT true about RashtriyaKrishi VikasYojna?
(A) Itamsat achieving stableagricultura growth during the Eleventh Plan
(B) ItisaCentraly financed scheme
(C) Thetargetisto achieve4 percent annua growthin agricultura sector
(D) Theschemewaslaunchedin August 2008

104. Which oneof thefollowingisNOT an objective of minimum support pricesin caseof agricultura
products?
(A) Toensureremunerative pricesto growersfor their produce
(B) Regulating profit margin of traders
(C) Toencouragehigher investment and production
(D) Tosafeguardtheinterest of consumers

105. Which oneof thefollowingisNOT related with food management inIndia?

(A) Larger foodgrainproduction (B) Procurement of food grains
(C) Maintenanceof buffer stocks (D) Food security and pricestability
106. In petroleum productsin Indiathelargest amount of subsidy goesto:
(A) Kerosene (B) DomesticLPG
(C) Died (D) Petrol
107. Themain sourceof financing national highwaysinIndiais:
(A) Borrowing (B) Budgetary Support
(C) Externd assstance (D) Cessfund
108. Thelargest increasein employment generation during the Eleventh Plan hasbeen expectedin:
(A) agriculture (B) condruction
(C) manufacture (D) transport and communication

109. Which oneof thefollowingisthemost important cause of unemploymentinindia?
(A) Joblessgrowth (B) Slow growth of GDP
(C) Notrickledown benefit of GDPgrowth (D) Inequditiesindistribution of GDP
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110. Assertion (A) : High rate of economic growth isanecessary but not asufficient conditionto

solveunemployment probleminindia

Reason (R): Neglecting strategy of inclusive growth isamain reason of slow growth of
employment opportunities.

Consider the above statements and sel ect correct answer from the codes given below :

Codes:

(A) Both(A)and(R) aretruebut (R) isnot acorrect explanation of (A)

(B) Both(A) and (R) aretrueand (R) isthe correct explanation of (A)

(C) (A)istruebut (R)isfase

(D) (A)isfasebut (R)istrue

111. Whichoneof thefollowingis NOT trueabout Thirteenth Finance Commission ?
(A) ItcoverstheperiodfromApril 1,2010to March 31, 2015
(B) Vijay Kelkar wasthe Chairman of the Commission
(C) TheCommissionrecommended largeamount of grant from the Centreto meet deficitin
State budgets
(D) 30.5 percent of the proceedsfrom Central taxeswould be devolved to States

112. Whichoneof thefollowingwasNOT responsiblefor larger fiscal deficit of the Centrd Government
intheyear 2008-09 ?
(A) Taxratereductioninexciseand servicetax
(B) Sixth Pay Commissionaward
(C) Larger Capitd expenditure
(D) Farmloanwaiver

113. Thelargest source of tax revenue of the Union Government at present is:
(A) Persond incometax (B) Corporationtax
(C) Unionexciseduties (D) Customsduty

114. Inthe proposed Goods and Service Tax (GST) which one of thefollowing taxeswill NOT be

merged ?
(A) Unionexciseduties (B) Servicetax
(C) Centrd salestax (D) States vaueaddedtax

115. For combating globa recession during 2008-09 the most important fiscal measurewas:
(A) taxratecutinexciseand servicetax (B) concessoninimport duties
(C) larger amount of loanstoindustries (D) larger capita expenditure

116. Theapex body for regulating capital market inIndiais:

(A) BSE (B) NSE
(C) IDBI (D) SEBI
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117. Consider sourceof thefollowing factsabout ‘ Bharat Nirman' programme:
1. TheprogrammewaslaunchedintheEleventh Plan
2. Buildinginfrastructure and basic amenitiesisthe main objective of the programme
3. Theprogrammeisonly for rural areas
4. There are six components of the programme including housing and drinking water
Of theabove:
(A) 1,2and3arecorrect
(B) 2,3and4 arecorrect
(C) 1,3and 4 arecorrect
(D) 1,2and4 arecorrect

118. Asper population census 2001 thelowest literacy rate out of thefollowing Stateswasrecordedin:
(A) Jammuand Kashmir (B) Jharkhand
(C) Biher (D) Uttar Pradesh

119. Which oneof thefollowing isthelargest item of devel opment expenditureinthe budget of Jammu
and Kashmir ?

(A) Power (B) Agricultureindudingirrigation
(C) Education (D) Medica andpublichedth
120. Which oneof thefollowing isthelargest source of tax revenuein Jammu and Kashmir budgets?
(A) Sdestax (B) Stateexcise
(C) Taxesongoodsand passengers (D) ShareinCentral taxes
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